together?

Sally has $3.10 and
Lucy has $6.50. How
much do they have

altogether?

Auckland has $12.45,

Timote has $2.10 and
Isaia has $9.00. How
much do they have

Roger weighs 85.9kg
and went on a diet. He
lost 12.5kg. How much

does he weigh now?

Jim rides the bus to and
from school each day. A
one-way trip is 8.12
kilometers. How many
kilometers does he

travel in 3 days?

$75.99. How muc

left in her bank?

Lucy has $130.03 in her
bank account. She
bought a PS4 game for

money does she have

sprint was 12.5
h

has the record
changed?

In 1912 the world record
time for the 100 metre

seconds. It is now 9.29
seconds. By how much

have left?

Bob had $20 and he
spent $9.25 at the dairy.
How much does he

Tina’s cat weighs 2.9
kilograms. The cat
keeps stealing the

neighbours cats food,
and now she has put on
weight. Now she weighs

3.8 kilograms. How

much weight has she
put on?

Miss Ashley went to t

$4.80, and toast on

much did breakfast co
altogether?

cafe for breakfast. She
bought a hot chocolate
for $4.99, a muffin for

eggs for $15.80. How

he Carrie likes to buy

t-shirts at the local

$5.95 each. One day,
she bought 20 t-shirts.
How much money did
she spend?

st

clothing store. They cost

Kathie ran 1.03

day. She ran 2.10
kilometres on the

kilometres on the first

second day. How far did
Kathie run altogether?

The world record for
men’s shot put is 15.12

metres. The world
record for women is
12.63 metres. What is
the difference in metres
between the two

records?

The electrician has 4.29

metres of cable. He
uses 1.5 metres on a
job. How much cable is
left?

The ceiling is 2.2 metres
high. The bookcase is
1.645 metres high. How
high, in metres, is the
space between the
bookcase and the
ceiling?

Tony ran 164.987km.
Stanley ran 153.1km.
How much further did
Tony run?

On a hot day the tomato
plants used 1.2 litres of
water. On a cold day
they used 0.885 litres.
How much more water
did the plants use on the
hot day than the cold
day?

Syraiah-Lee is 1.45m
tall. Her brother Zion is
0.98m tall. How much

taller is Syraiah-Lee
than Zion?

Grace is 1.60m tall. Lily
is 1.25m tall. How much
taller is Grace than Lily?

Ashley has $153.08 and
Lucina has $4.99. How
much more does Ashley
have then Lucina?

If Chelsea is 2m tall and
Ashley is 1.654m tall,

how much taller is

Chelsea then Ashley?




Miss Ashley spends $1.40 Miss Ashley need
on a donut everyday. If she
buys a donut everyday for student to make
14 days, how much money
did she spend on donuts?

0.45m of fabric per blocks. Each block is

blindfolds. If she has 27 | collection of 28 blocks. If

students, how much she could stack all of the
fabric does she need?

S Baby Isabel plays with Lucy drives 3.45km each
day to and from work.
How far will she drive in 5
days?

3.2cm tall. She has a

blocks up one on top of
the other, how many cm
tall would her tower of

blocks be?

kilograms of butter. How

Joni be able to bake?

Joni has 1.2 kilograms of
butter in the fridge. A batch
of scones requires 0.075

many batches of scones will

litres. Will you be able

$85?

Petrol costs 209.9 cents | Johnny makes $14.75
a litre. Your car takes 40 | per hour at his work. If

buy 40 litres if you have much money will he

Each netball bib takes 0.20
metres of cloth to make.
You have 7.6 metres of

cloth. Is that enough cloth

earn? to make 25 bibs?

to | he works 6 hours, how

they cost $1.50 each?

If Miss Ashley has $20, how
many donuts can she buy if

loaf. For the school
BBQ, Mrs Kelly needs

much will it cost her?

Bread costs $1.45 per Lollipops cost $0.40

16 loaves of bread. How

How many $0.80c lollies

each. If we need 28 for can you buy for $7.607?

the whole class, how
much will that cost?

There are 26 students in
Room 7. Each student
brings $4.50 for the trip.
How much money do they
have altogether?

1.25 big boxes of milk

classes, how many big
boxes of milk is that?

Each class goes through Bob drinks 0.75L of

everyday. If there are 12 much water does he

Books are 0.32cm wide. If
water everyday. How 40 books are stacked on

top of each other, how tall
drink in a month (30 would the stack be?
days)?

Tokens are 0.134cm tall. If
150 tokens were stacked on
top of each other in a tall
tower, how tall would the
tower be?

Sarah is 1.34m tall. She
grows 10% of that
height each year. How
tall will she be after 3
years?

Briscoes were havinga | Miss Ashley has 0.98m of
sale. A duvet which was | fabric per student to make
normally $499.65 was a lavalva. If there are 26
on sale for 40% off. How | students, how much fabric
much is the sale price? is there altogether?







